TIG TORCH 18

¥ C€ o @ ¥ C € aveoorer @

Complete torch-EURO Complete torch-EURO

Torch sintig 18 8m M12x1 ﬂ Torch four switches 18 4m M12x1/leather
— 10B6306-36 e oo 12x1 1 10B7106-36 S/ XTIGHB/4mM12x1/5 3 !
Torch sintig 18 4m M12x1 “ Torch dubtig 18 8m M12x1/leather
L= TElLEE 1246/ FF /TIG18/4m/M12x1 1 B33 1R/ F HITIG18/8mIMI2X 1/ !
— —

Torch dubtig 18 8m M12x1 Torch dubtig 18 4m M12x1/leather

10B7306-36 SR ASI T 2 ITIG 8/8m/M 1 2x1 1 10B7506-36 FRAO/TF /TIG18/4m/MA 2x1 /B2 115 !
Epdm Torch dubti l
g 18 4m M12x1 Torch four switches 18 8m M12x1/leather
10B7906-36 SRR T S TIG1B/4miM12X1 1 Leather HOEEEE (BT EITIGI8/8MIMI2X B3 !
1/4G
Leather

Technical data |HASH
Cooling: Water Cooled :7’%‘£I]7’:'iﬁ:7ki%
Duty100%DC: 320AMP | B 100%2 &% : 320AMP

Duty100%AC: 240AMP | 3% 7 100% 1 ;5 : 240AMP
Electrode Size: 0.5-4mm| H4R/R <t :0. 5-4mm Complete torch-UK Complete torch-EURO
1

ﬁ Torch sintig 18 8m 3/8G —t Torch TIG 18V 8m
1086307-36 1946/ FF X/TIG18/8m/3/8G ! 10Y9306-00 fR4/TIG18V/8m !
= Torch sintig 18 4m 3/8G = Torch TIG 18V 4m
USRI 1246/ JF 5/TIG18/4m/3/8G i IOTEEY 1EH/TIG18V/4m t
Torch dubtig 18 8m 3/8G “‘ Auto torch TIG 18 8m
: 10B7307-36 FRAR/T FF /TIG18/8m/3/8G 1 1069306-00 & 1R40/TIG18/8m 1
Torch dubtig 18 4m 3/8G Auto torch TIG 18 4m
10B7907-36 1R R/ S/TIG18/4m/3/8G q T 1069906-09 R HITIG18/4m ;
3/8G F
Epdm 3/8G

Epdm




ONSUMABLES TIG 17-18-2

C € eneoora7 (© v C € eewrT (©

NN AT T R T M O

Colletbody gas lens ® 0.5mm TIG17-18-26

Ik By EE s GR15

Alumina cup gas lens GR5L/TIG17-18-26

i RIRITIG17-18-26

IGF0001-05 45V29 36 1 @ 0.5mm/TIG17-18-26 10 1680031 SANITL gt GRSLITIG17-16-26
rooio snvas  SOMEGEMOLNMIGIANG i, s s Mmmengmmotmomas g,
oronss s SETEASTIE™Y  w oo owis WERGENEAENC o
orvorzn oo STITAEIS I 10 v s SERBTIEELIT o
IGF0001-24 45V26 ,C,éei'i';;%gazsfg;‘,’}fgz";ﬂ;’fﬁ”'m'ze 10 1GS0040  10N50L %Qﬁ&céﬂgf,‘}'l'gﬁ_ﬁ'_lzse'ze 10
1HJ0011 1HJ0051 1HJ0012 |GF0001-32 45V27 ;o;eélg%ga;;eg;%i}zln;nlgl&l? -18-26 10 1GS0046 10N49L ggﬂg&cg&gﬁg&gﬁﬁﬁze 10
Gruoia i SHBYEIBOUMIETE® o s ows MeRETTON 02 o
77777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777 1 IGF0002-10 45V0204 %u"j'?%‘gfggﬁ?fﬂ,ﬁ"mﬁé‘f,’{‘{';]_Tz'g”'m'ZG 10 1650048 10NA7L  piminacep CRILITIONT 1826 10
. : IGF0002-16 45V116 Ccl\eEbogylargegaslenso1.6mmTIGl7-18-26 10 1GS0049 10N46L Alum\lnacupGRHL/TIGH-lB-ZG 10

e cumees | 5 | T AT
‘ IGF0002-24 '45V64 ) Ak it 4 £ © 2.4mm/TIGL7-18-26 & 1680061 13N12  hgysuiws GReITIGS-20-25 =
3 I ToomoooooooooTonososooooooosooooooooooon ! IGF0002-32 995795  SO|Stbodylaige gas lens & 3 A TIGLTA826 4 1GS0062  13N13  fyUTiIAce T TIo920 29 10
o L3 oo T s L o Rz ssves USRS IO 0L 1o osooss v AUMSCRSTTOE 0
: i i i 1GF0006-05 10N29  SOpELbeY P OSmm BT 1826 10 160067  13N08  fTIIAceR ORe 11R20.25 10
orooos-to 100 S PN 00 10 esoe e AmERcmCReTIChIs 10
¥ am i 5 = ] o . IGF0006-16 10N31 %"&e},\%%’%rﬁﬁr”"‘/'{‘é'ﬁljé{ggs 10 1GS0069  13N10 g'%g%cg’;%ﬁ?g&%_szs 10
i s P oo ioFooos-20 Tovsewt SEpeiedy 22 omn T 1620 o resomz  sevio  MmERERemEcRunenies g,
E o : | y T I leswes  sae  MmmSpgmencrernn

: i i
1»———7———' ——————— : i  RGREECEEEEEEEEEREPES : :”””l 777777 : IGF0006-32 10N28  SOpERey O 5-2mm TIS1T 18 26 10 1650086 54N18  AUTIIACUR gasiens CRATIGIT-18-20 10
1680067 1GS0068 1650069 3 1GS0020 160027 1050086 1GS0087 1650088 IGF0006-40 406488 (éo#ieglélzrgggr}‘ﬂrrr‘r\/r_rnlélgl_zégézs 10 1Gs0087 54N17 ﬁ;‘gﬁ@é‘}éﬁﬂéﬁﬁ;@?e17'18‘25 10
- § T == g cramonn wize SIS SIS 232 o som s Mmmopmemserieri
.y ; | . | orown 10 oo IS RIS s s fmmAmeIORNG
. 3 ) o IGK0008  54N01 ;,g;‘:'gg,%’/’ﬂ‘sbl‘;d_ymg»gz'e"ST'G”'w'Zs 10 1GU0006-16 10N23 %ﬁi&?{?&?ﬂ’?ﬂﬂ%{#fﬁ?e 10
2 18- 18-

w W u Guaes  sscom [SUEOMI BT 1y cuonuean v SIS0 o
- ot pos T - les0001  10Nds it g6 0 ieuoooe2e 1024 G G U e e 10
[TTTTTTTTTTTTTTTmmmmmmoroionomonoonnennn o ; e 1GS0002  10N45  pnacur CRI0TICLTLE26 10 1GU0006-32 10N25 Qe G SAm ML 1820 10
|GSU‘007 1GS0008 1GS0009 1GS0005 1GS0001 1GS0002 1GS0003 1650003 Lonas “Aﬂl%gu;cuepR?;#ﬁg{?}fé}zaézs 10 (SRR S %0£1%4400T"":"7‘:-?‘3117;%18é%§6 0
: csos o fmmRemOTTCH b o s s SRSLIET LS, .
: ; csmmor v pipcmeneTn e o eumonio sous SSIOIETIL, .
6.5 o8, o0 o ' 1 oos oo oos 1GS0008  10N4g [ 4TNAcUR GRS TIOLTE26 10 16U0007-16 10N235 (LG HGIT 128 10
1GS0040 1GS0046 1GS0047 1GS0048 1GS0049 }—‘ 1GS0034 ST AR %lg"nlﬁ"n;c‘é%%ﬁr?glls}l7s‘}zss-ze 10 1GU0007-20 10N23MS %%;?E?Dé%?nnr‘nﬂ'?ébfggﬁ 10
1650020 57N7S  fYTNAcDaRs iens XLORG 10 16U0007-24 10N24s QB4 ML 1820 10
. IGS0026  57N74  UTIIACHEgAsiens XL GRE 10 1GU0007-32 10N25S  Gel % 2mm TIGLT 1820 10
) 16s0027  saNgs RSP A% ehs XLORIO 10 HI0011  s7voz  (Opgbackcan [IOLT16-26 10
1GS0028  53N87 ?&‘;;"g‘%ﬁ;';g"g;i’f HLERZ 10 IHJ0012  57Y04 Sﬁhﬁ%’%ﬁgf;‘f’&"gg'm'zs 10
‘m }a:_s‘ i‘E‘ &‘ m 0}&{'5 1GS0029 53N89 Alumina cup gas lens XL GR15 10 1HI0051 57v03 Medium back cap TIG17-18-26 10



	TIG TORCH 18
	CONSUMABLES TIG 17-18-26

